F.Y.B.COM. SEM - II (CBCS - 2016 COURSE) : WINTER - 2017
SUBJECT: BUSINESS ECONOMICS-11

Day: Friday Time: 03.00 PM TO 06.00 PM
Date: 27/10/2017 Max Marks: 60

W-2017-0221
N.B:

1) All questions are COMPULSORY.
2) Figures to the right indicate FULL marks.

Q.1

Q.2

Q3

Q4

Q.5

A) Select the most appropriate alternative from those given below and rewrite (06)
the statements.
1) Modern Theory of Rent is given by

a) Ricardo b) Joan Robinson
¢) Marshall d) Pigou

2) seller exists in the monopoly.
a) Few b) Large
¢) Single d) Indefinite

3) Under Perfect Competition
a) MC=MR = AC=AR b) MC>MR = AC=AR
¢) MC=MR = AC>AR d) MC<MR = AC>AR

4) The average revenue curve and industry demand curve are same in case of
a) Oligopoly b) Monopoly
¢) Duopoly d) Perfect Competition

5) Dynamic Theory of Profit is advocated by
a) Clark b) Robinson
¢) Amartya Sen d) Smith

6) Each duopolist assumes that other keep their prices
a) High b) Low
c¢) Constant d) None of the above

B) Answer the following questions in one sentence each: (06)

1)  Give an example of oligopoly.

2)  Define the term ‘Wages’.

3) Whatis ‘Marginal Cost’?

4)  What do you mean by ‘Quasi Rent’?

5)  What is price discrimination according to place?
6) What is ‘Innovation’?

Attempt ANY THREE of the following: (12)
a)  Explain product differentiation.

b)  Describe the concept of duopoly.

¢) Explain real wages.

d) State the dynamic theory of profit.

Attempt ANY TWO of the following: (12)
a)  What is ‘Collective Bargaining’?

b) Explain Risk Theory of Profit.

¢) State Real Rate of Interest.

Explain short-run equilibrium under perfect competition. (12)
: OR
Describe in detail the Modern Theory of Rent.

Write short notes on ANY THREE of the following: (12)
a) Minimum Wages
b) Economic Rent

¢) Marginal Revenue
d) Selling Cost
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